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<style>2
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margin-top:40px;}2
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margin:0,auto;a
display:block;}a
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<p>¥ v FIVEE</p>2

<formsname="3& —L">2

<table>2

<tr><tdcolspan="4"><inputstype="text"name="A /1"size="16"style="font-size:100%;"></td></tr>2
<tr><tdicolspan="3"sstyle="text-align:left;"><inputitype="reset"value=",A\Cs"'name="0 & > & "style="color:red;"></td>2
<td><inputdype="button"value="+"onclick="gl % ()"></td></tr>2
<tr><td><inputstype="button"value="s7"onclick="7x 7% ()"></td>2
<td><inputitype="button"value="s8."onclick="{3 5 ()"></td>2
<td><inputstype="button"value=".9."onclick="2 1> 5 ()"></td>2
<td><inputastype="button"value="sxa"onclick="D* 7 % ()"></td></tr>2
<tr><td><inputstype="button"value="s."onclick=" & A.()"></td>2
<td><inputatype="button"value="s5"onclick=" & ()"></td>2
<td><inputstype="button"value="46."onclick="5 < ()"></td>2
<td><inputstype="button"value="sa"onclick="5| < ()"></td></tr>2
<tr><td><inputstype="button"value="s11"onclick="\L\ 5 ()"></td>2
<td><inputatype="button"value=":2."onclick="( ()"></td>2
<td><inputstype="button"value="s3."onclick="& A ()"></td>2
<td><inputstype="button"value="s+a"onclick="i& 9 ()"></td></tr>2
<tr><td><inputitype="button"value=",.."onclick="53 ()"></td>2
<td><inputatype="button"value="40."onclick="t 2 ()"></td>2

<td></td>2

<td><inputatype="button"value=",=a"onclick="1L\ Z — % ()"style="background-color:#dddddd;color:black;"></td></tr>2
</table>2

<fform>2

<script></script>2

</htmi>2



<p> v TINEBH<p>2

<formsname="3v& —L">2

<table>2

<tr><tdacolspan="4"><inputitype="text'name="A 71"size="16"style="font-size:100%;"></td></tr>2
<tr><tdicolspan="3".style="text-align:left;"><inputstype="reset"value=",AlCs"name="D & - &"style="color:red;"></td>2
<td><inputatype="button"value="+"onclick="%l % ()"></td></tr>2
<tr><td><inputdype="button"value="s7."onclick="7x %% ()"></td>2
<td><inputstype="button"value=".8."onclick="{3 5 ()"></td>2
<td><inputatype="button"value="9."onclick="2Z > 3 ()"></td>2
<td><inputstype="button"value="xa"onclick="5\J % ()"></td></tr>2
<tr><td><inputadtype="button"value="sa"onclick="& A ()"></td>2
<td><inputitype="button"value="s51"onclick=" & ()"></td>2
<td><inputstype="button"value=":6."onclick="5 < ()"></td>2
<td><inputitype="button"value="s-1"onclick="5| < ()"></td></tr>2
<tr><td><inputdtype="button"value="s1."onclick="L\ 5 ()"></td>2
<td><inputastype="button"value="a2."onclick="{< ()"></td>2
<td><inputstype="button"value=".3."onclick="& A()"></td>2
<td><inputitype="button"value="s+a"onclick="1& 9 ()"></td></tr>2
<tr><td><inputadtype="button"value="s.."onclick="()"></td>2
<td><inputitype="button"value=".0"onclick="t % ()"></td>2

<td></td>2

<tdacolspan="2"><inputtype="button"value="s=s"onclick="\\ Z— % ()"style="background-color:#dddddd;color:black;"></td></tr>2
</table>2

</form>2

<script></script>2

</htmi>2



<script>2

functionat® % (){document. 3 & —& . A H.value+="0"}>
functional) 5 (){document..3v & — . A H.value+="1"}2
functionalc (}{document.3» & — . A H.value+="2"}2
functiona™ A (){document.3 & —. A H.value+="3"}2
functionadk A (}{document..3v & —E . A H.value+="4"}2
functiona()}{document.3» & — . A H.value+="5"2
functiona® < (){document..3\ & —&. A F.value+="6"}2
functiona’® 72 (){document..3\ & — . A H.value+="7"}2
functionald 5 (){document.3 & — . A H.value+="8"}2
functiona= ¥ 5 ({document.. 3\ & — . A H.value+="9"}2
functionasi (){document.3» & — . A H.value+="."}2
functiona 9 ()}{document..3 & — L. A .value+="+"}2
functionad| < ({document..3v& —. A H.value+="-"}2
functionaH 7 % (){document..3» & — . A f.value+="*"}2
functionaZll % (){document..3v & —. A H.value+="/"}2
functionaVZ—% ()2

{if(document..3 & — . A .value==""lldocument..3» & — . A f.value==null)2
{document..3s & —. A F.value=0;}2

document.3» & — . A J1.value=eval(document..5 & — & . A H.value);}o
</script>2



